
THIS DRAWING AND ITS CONTENTS ARE PROPERTY OF HI-TECH FENCE & STEEL INDUSTRIES. ANY USE ,REPRODUCTION ,DISTRIBUTION OF THE CONTENT ,IN PART OR WHOLE IS STRICTLY PROHBITED WITHOUT THE WRITTEN CONSENT AND APPROVAL OF THE PRINCIPALS OF THE COMPANY. 

SUPPLIER:

DESIGNED BY:
DRAWN BY:
CHECKED BY:

APPROVED BY:

SCALE:
DATE:

DRAWING NO.:

PAPER SIZE

REV. NO.
HI-HDF-GEN- PALISADE -000 A

CLIENT:

SHEET NO.

22-08-2021

AS SHOWN

01A3
MJI

RAMEEZ

ADT

MJI

DRAWING TITLE:
GENERIC HI-PALISADE FENCING

EXIT 13 AL KHARJ ROAD 2ND INDUSTRIAL AREA RIYADH
PO BOX 325752 RIYADH 11371
TEL. NO.: 011 208 007 FAX NO.: 011 291 4419

NOTE:

1. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE NOTED.

FINISH:

2. HOT DIP GALVANIZED TO BS EN ISO 1461
3. HOT DIP GALVANIZED AND POWDER COATED TO BS EN 13438
4. MARINE COAT FOR INSTALLATIONS WITHIN 500M OF SALT WATER OR AN

ESTUARY

MATERIAL LIST:

HI-PALISADE FENCING

ITEM CODE FENCE
HEIGHT PALE HEIGHT PALE

SECTION POST SIZE HORIZONTAL
RAIL TOP SLOT TOP HOLE BOTTOM SLOT BOTTOM

HOLE BASE PLATE

HIPLS100 1.0m 950mm 2mmW /3mm
D 102x44mm 50x50x5mm 225mm 225mm 800mm 150mm Ѵ

HIPLS150 1.50m 1450mm 2mmW /3mm
D 102x44mm 50x50x5mm 225mm 225mm 1300mm 150mm Ѵ

HIPLS200 2.00m 1950mm 2mmW /3mm
D 102x44mm 50x50x5mm 275mm 275mm 1750mm 200mm Ѵ

HIPLS250 2.50m 2450mm 2mmW /3mm
D 102x44mm 50x50x5mm 275mm 275mm 1850mm 200mm Ѵ

HIPLS275 2.75m 2700mm 2mmW /3mm
D 127x76mm 50x50x5mm 475mm 475mm 2320mm 380mm Ѵ

HIPLS300 3.00m 2950m 2mmW /3mm
D 127x76mm 50x50x5mm 475mm 475mm 2570mm 380mm Ѵ

SCALE : 1:50 MTS.

TYPICAL HIGH PALISADE FENCE
SCALE : 1:50 MTS.

SECTION

GROUND LEVEL

2750
17 PALES @ 152MM C/C

152

A

A

01

A
50

FE
N

C
E 

HE
IG

HT
47

5
38

0
15

0

50
 M

A
X

(E
M

BE
D

M
EN

T)
FE

N
C

E 
HE

IG
HT

RSA 50x50x5mm RAIL

IPE  POST

CORR.'W' SECTION PALE
70mm THICK SEE NOTE NO.8

RSA 50x50x5mm RAIL

1:05 MTS.

50

20 20

53

4.7

2727

CONNECTION DETAIL
SCALE :

02
-

RSA 50 X 50 X 5MM RAIL

M8X25 CUP HEAD SQUARE
NECK BOLT, NUT & WASHERS

CORRUGATE 'W' SECTION PALE
(SE NOTE NO. 8)

40X5X150MML LOOSE FISH PLATE
BOLTED TO RAIL WITH

M12X30 CUP HEAD SQUARE
NECK BOLT, NUT & WASHERS

SCALE :

ASSEMBLY DETAIL
NTS

RSA 50 X 50 X 5MM RAIL

CORRUGATE 'W' SECTION PALE

40X5X150MML LOOSE FISH PLATE
BOLTED TO RAIL WITH

M12X30 CUP HEAD SQUARE
NECK BOLT, NUT & WASHERS

NTS

18

18 28 18

R3

81
°

81°

99° 99°

81
°

20 30 20

70

2

64

CORR. 'W' PALE SECTION DET.
SCALE :

A
RM

 H
EI

G
HT

EXTENSION ARM DETAIL
1:20 MTS.SCALE :-

45°

45
°

OPTIONAL

BARBED WIRE

BARBED TAPE
CONCERTINA

L 50X50X5MM

M8X30 BOLT
NUT & WASHERS

20
18

17
4

18
20

25
0

20 30 150 30 20

250

10
10

0

1:10 MTS.SCALE :-
BASE PLATE DETAIL

1:10 MTS.SCALE :-
B SECTION

B B

IPE  POST

STIFFENER 8MM THK

BASE PLATE
250X250X10MM THK

IPE  POST

STIFFENER 8MM THK

BASE PLATE
250X250X10MM THK

(E
M

BE
D

M
EN

T)

OPTIONAL

OPTIONAL


	Sheets and Views
	Model


